Q

O
Section M - BraRes

N.B. Brake part numbers b@Qwith 1))



contents

o Q°
%

Callipers Mastercylinder -\q}

B Q&Q

Brakes discs &Q&

| | o
Bleeding Brake Fliud xO

D \0&}
Pedal Box %)
Cf$
@
A
B
Handbr%e Yable

&

Q
S
%@ Handbrake Shoes

&9'
Q
&
$ Brake Pads




BmkeCallzpers Remoml/Replacement Pmcedure

N B. Thls procedure is baszcally the same for
~the front and the rear and for this the front
calliper has been used to demonstrate the "
produce._ : ;.-:. - o

- " stands

Service/Workshop Manual - Front Brake Calliper

~ Remove the wheel.

nbolt the 2 x MlO allen bolts and sprmg ni
washers that secure the cahper to the uprlght'. -
_ assembly e _ .

Remove the calliper clip and then remove the .
pad securing bolt. Note the orientation of the
anti-rattle clip and remove it. .

Service/Workshop Manual - Front Brake CaIIpfr



CERBERA SERVICE/WORKSH OP MANUAL




|l
"""i'"‘.

g famapee

Ll

{VIEW OH ARROW “A" [BEARING PACK COMPOMEMTSIF

HOTE OREN

TATION

DWG, Ma|PART NolaQTy.] '
CI0Z0a CO178 z -
- CO035 1 =
CIDa3 [FSIEE] 1 =
= waios | 1|50 1D 53
[ 20 TO 25
40 T0 45
NOTE ORIENTATION OF (—f— ) =
a STEERING ARW TO 0 B 1 a9 To 10
ER & UPRIGHT.
CAUF URRIGL | FRONT CALUPER "~ 1 = MERAL NOTES:
- M i
12 W10 BAMJD BOLT K 1 _u._.,HM _wm. - 5l CALLY QPPOSITE .
13 [0 % 1 ?_m.t“ COPPER W SR P~ 7 = ¥ SICMALLY DIFFER, SEE TABLE)
T4 [FRONT BRAKE HOSE [ = r =
e e ALE |IF | DOUBT AS
15 [NID x B5 LONG CAP PEAD BoLT K Z %0 1o 45 [IF_In .:U,_L__ﬂ_;:m..n:.mr.._{._|x
6 [MID SPRING WASHER 3 2 = protazea
™ o W o |
2 4y i HO280 ] S AL BuENTDIE
{AS SUPPLIED WTH TRACK ROD ENO] - - |35 10 40 CIELOUNT  |PAE
20 LONG CAP HEAD BOLT i V5ZaE + |20 10 25 Sliaohe il SRR
ASHER .@. G028 i - H/A [SEE TASLE)
JEANT - CoiEd 1 -
JOINT LOEK NUT GPACER n._mu.ulﬂ CEY T = /b [SEE TABLE)
NF_HYLOC NUT - QiG] 1|60 1o 70 TOLERANCE:  UNEAR & Wew ™ UNILESS)
% B.A x 10 LGHG DUREL - E SO S = E ANGULLR & = sapen sramnf
LA G ROLT e 93 Je 4  (ruwmgE)  [se [B4lsSed
3 m \f_|. SEE A0 frescRenion
[i]] N FROMNT UPRIGHT GEHERAL ARRAHGEMENT
cei5s | Y ~ CERBERA
. BTARING DRAW BGL] SPACER — INMER! C1029 Conaz - y .
31 WMLTAL LOCKING HUT w ¥ 4 B fser 28 = 3
3z | i = GOO3R = ;
R JoTo ==
a3 4T_BRAKE DISC_ 70 1 ; T
34 |MiZ % 38 LONG CAP MEAD BOLT wazda 3 \ FER CaR:
[SUEET N R CIG354
» s AL USE) .




CERBERA SERVICE/WORKSHOP MANUAL :




CERBERA SERVICE/WORKSHOP MAN UAL

The pads cé_n then be slid out of the calliper. - _f

Service/Workshop Manual - Front Brake Cailfi::e'r ' e : ‘@,

Next a pipe clamp must g%’D{ed to the flexible
section of the brake pi@a . This is to stop the
brake fluid from spilfig out. N.B. Itis
inevitable that  fluild will be lost and
that the br’ak&@du havetobebled. .

Qe

7
rmwakp . ial - Front Brake Calliper
-
<
1 To replace the calliper, which must always b_é
$ done in pairs, reverse the outlined procedure.
Q See section C and bleed the braking system.
Q Then refit road wheels ane tighten to correct
torque. Road test the vehicle.
8

Service/Workshop Manual - Front Brake Calliper



"0@
Service / Workshop Ma@al
N

Q
Brake Dis&>



Service/Workshop Manual - Front Brake Disc

Service/Workshop Manual - Front Brake Disc

Bmke Dzsc

Revl/Replacement Procedure

Jack up the front of the car and lower onto axle

 stands
~ N.B. This procedure is the same for the front
-and the rear brake d1scs._ e . Q
L e - _'__i'-;f_'. >
] o "-:-\(b"
S
&
e o
Remove the wheel. & i
- :0.\_0_
G
2 L
________ — o
&
0"

C)Remove the 2 x M10 allen bolts and spri'ﬁg'

~ washers that secure the caliper to the upnght .
and move the cahper to one side. e

Service/Workshop Mamt ront Brake Disc

Service/Workshop Manual - F ront Brake Disc

Once this has been done the brake dlsc can be j
slid of the brake hub.




CERBERA SERVICE/WORKSHOP MANUAL

3

]

 Toreplace a brake disc reverse the outlined
o opocduel BURL G

Service/Workshop Manual - Front Brake Disc s P ,&




"0@
Service / Workshop Mq{mal

X
Brake Fluid Ble’&ng



Bmke Fluzd Bleedmg |

Remoml/Replacemem Procedure

Firstly raise the car and lower onto axle stands. _
Making sure to position them under the cha551
to leave the suspensmn free. :

1

5ermf,e/5hop Manual - Brake fluid bleeding s - o e &
B O
Next remove all the wheels. b,& e
;\O@ _
_0\;

’ o

Service/Workshop amal - Brake fluid bleeding : )\J‘() >

__C’Remove reservior cap and top-up. .
Q- Be careful not to spill fluid onto pamtwork
4 Spilt fluid needs to be washed away with Water_ :

: & other wise pamtwork damage will occur.

N.B. - An assistant will be required to keep the
fluid reservoir topped up and pump the brake -
pedal. -

Drake fluid bleeding

Starting with the furthest caliper away from the
fluid reservoir i.e. N/S rear, loosen the brake
bleeding nipple located on the outside of the -
caliper. .

N.B. If the system is completely empty, it maybe
necessary to start at the caliper nearest to the

Service/Workshop Manual - Brake fluid bleeding master cylinder. i.e. O/S front.



CERBERA SERVICE/WORKSHOP MANUAL

P Usmg a tube on the bleed mpple and a contamer
- in Whl(:h to collect the used ﬂu1d pump the _ﬁ_ |
ffbral(e pedal untﬂ no more air appears from the

cahper . . o : &

Servz’ce/WorkshopManuul—Bmkeﬂuibleed:’ﬁg - = . e ‘@,

. AL thls pomt re- t1ghten %uter bleed mpple
Move on to the ad]ace§ zpple on the inside of
' the cahper and repea%t e operatmn .

Service/Workshop Manual - Brake fluid bleeding o :‘&f" .

- When one caliper is bleed, move onto the
Q' - next. If having bled all the calipers the brake

- - _pedal stxll feels unsansfactory, repeat ’che process
- agam :

Service/Workshop \ifatal - Brake fluid b!eeding




O
Service / Workshop Ma{mal

Pedal Box - Removal &'Rfeplacement



:The pedal box is secured to the body in two
areas. One in the engine bay and the other in

~ the inner wheel arch. e
- To gam access to the boits Wthh secure the

Ser'ce/Workshop Manual - Pedal Box

 The pedal box is secured to t&é of the

_engine bay by four bolts. | ver the fourfh :
~ bolt is hidden by the wq:ci,gmotor assembﬂy
‘This bolt is accessible removmg the

-grommet - -(A) ' n

- N.B. At this sta ésonly bolts A B should be o

2 ~ removed an% s C,D, should be left to hold |
_____________________ _ the box in tion untﬂ the next stage has beenj

Service/Workshop Manual - Pedal Box o COIIlpIeR e
Q)

QCJIhen disconnect the brake piping -
Q, from the alu_mmmm union inside the drwers .
footwell o

Service/Workshop Manu @&iﬂi Box

Undo the Jubilee clip which secures the vacuum'
pipe to the N/S mlet manifold. :

Service/Workshop Manual - Pedal Box




CERBERA SERVICE/WORKSHOP MANUAL

- - Then undo the spht pm and clev:s pm whlch
connects the servo to the brake pedal

Sr’ce/Warkshop Manual - Brake Master Cylinder - - i ' ‘&

i M 8 nuts with wash¥s that secure it to the'

_' If the servo needs to bg %ﬁced rem'ove'the :
- pedalbox.

The master cyImder can then be removed from
. the pedal box assembly and replaced.
~ To replace a new brake master cyhnder reverse
. -the outlmed procedure




O
Service / Workshop Mq@al

X
Handbrake Ca%?e



Handbrake Cable -eplacemenf Proceure

To gain access to remove the handbrake cable -
the car must be raised on a ramp. -

Service/Workshop Manual - Handbrake Cable

Service/Workshop Manual - Handbrake Cable ' -&) -

Remove the 10 x M10 allen bolts that secure the: |
strengthmg piate in place.

Remove the rear anti roll bar - desribed in the
rear suspension section.

H‘Jﬂiceﬂ”\’orkshup Manual - Handbrake Cable



CERBERA SERVICE/WORKSHOP ]\MNUAL

Split the exhaust system at the mamfold to cats
and remove the whole exhaust system.

5 N
: bl | <~
Service/Workshop Manual - Handbrake Cable : ‘& .
0@
Q
S
) Drill out the rivets W]’@ secure the heat sh1eId
to the msuie of the tfmnel and remove.
Q :
X0
O
0’&
e | 6 Xy
Service/Workshop Manual - Handbrake Cable . \J"ZJ !
%\
>0

Then from under the car the clevis pm with its
spilt pin, which secures the cable to the
handbrake lever needs to be removed. To
release the front part of the cable from the gear

lever.

To remove the short front section of the cable
slacken off the M8 locking nuts and unhook the
cable from the chassis clip. '

Service/Workshop Manual - Handbrake Cable




To remove the larger rear section of the cable
_ the rear wheels need to be removed as well as.

~ sub- sectlons)

Service/Workshop Manual - Handbrake Cable

Service/Workshop Manual - Handbrake Cable -&O -

C)Once it has been unhooked the Cable can'be -_
& pulled through the uprxght

Service/Workshop Man XIHandbrake Cable

outlined procedure.

12

Service/Workshop Manual - Hamib?ke Cable

The refitting procedure is the reversal of the. .

a/‘



Service / Workshop Magual
N

Q
Handbrake sives



To gain access to the rear suspensmn
assembly, remove the rear wheels. -

1
em:r,e/ or}mp Manual - Handbrake shoes
Unbolt the 2x M8 allen bolts sprmg washers =
that secure the caliper to t \érlght assembly "
‘and move to the side.
"O.
; _ : \‘Q
s
::erafe/lﬂu’orkshop Manual - Handbrake shoes \0 )

N
-

Q 11de the brake disc from the hub.

&

Service/Works andbrake shoes

The brake shoes are now visible and canbe
removed by inserting an allen key into the
spring and turning.
N.B. The orientation of the shoes should be
noted.
To replace the brake shoes reverse outlined

4 procedure.

Service/Workshop Manual - Handbrake shoes



CERBERA SERVICE/WORKSHOP MANUAL

)




N
Service / Workshop Magal
N

Q
Brake Pad®



Romlepleent roced

Bmke Pads

- that both left and right hand brake pads are
= replaced as uneven brakmg may occur 1f_onl

Service/Workshop Manual - Brake Pads

stands and remove the ro eel.

]ack up the front of the car 36&0wer0nt0fa>de ;

Service/Workshop Manual - Brake Pads . 7&) "

rake Pads .

Unbolt the brake pad securing bolt.

Service/Workshop Manual - Brake Pads



CERBERA SERVICE/WORKSHOP MIANUAL

)

e e

Service/Workshop Manual - Brake Pads

o '_To refxt pads reverse : out % procedure .
N B. New pads will co@& with antl-squeal

~ backing. Ensure to clean the piston surface of the
L 'caIlip'er . and 'p the adhesxve backmg

Service/Workshop Manual - Brake Pads




)
Service / Workshop Mq@al
N

Brake Master Cyﬁgder



T e

To replace the master cylmder the pedal box
assembly has to be removed as descnbed in its
~ relevant sub- sectlon. o : 4

Service/Workshop Manual - Brake Master Cylinder

Once the assembly has been ﬁ&oved any work

that is need can be compl na Work bench

Service/Workshop Manual - Brake Master Cylinder

. C)1'0 remove the brake master cvlindef firSf:

disconnect and remove the brake plpes. -
Noting their positions. - -

Service/Workshop Manual - Brake Master Cylmd_e;m

Undo and remove the 2 x M10 nyloc nuts _
securing the master cylinder to the servo. The .
master cylinder can then be removed -




CERBERA SERVICE/WORKSHOP MANUAL

Undo the throttle cable at the throttle cable f _' -
bracket wh1ch is located on the N/ S mlet '

manifold. o
N
Y
_ _ 5 | o
Serceﬂ/‘v’orksho,‘t Manual - Pedal Box ' ; | . .. '&e)
. Q@.
- Q
- Remove seal from aro%%fake ﬂuld reservoir.
e e
e
| Q\‘
| 6 &
Serviceorkshf)p Manual - Pedal Box - -*\J@" '
Sol

Next remove the 2 x M8 bolts and washers
located in the wheel arch which secure the pedal
box at the bottom. Once these two bolts have
been removed then the two upper securing bolts
(which where left in position from the stage 2
can be removed. .

Once this has be done then the pedal box

assembly can be removed remembering to push
 the throttle cable and vacuum pipe through the

access hole for the clutch reservoir. '

To replace a pedal box assembily reverse the out

lined procedure.

Service/Workshop Manual - Pedal Box



